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QUESTION 1

Given: 

What must be added in line 1 to compile this class? 

A. catch(IOException e) { } 

B. catch(FileNotFoundException | IndexOutOfBoundsException e) { } 

C. catch(FileNotFoundException | IOException e) { } 

D. catch(IndexOutOfBoundsException e) { } catch(FileNotFoundException e) { } 

E. catch(FileNotFoundException e) { } catch(IndexOutOfBoundsException e) { } 

Correct Answer: C 

 

QUESTION 2

Given: /code/a/Test.java containing: 

and 

/code/b/Best.java 
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containing: 

package b; 

public class Best { } 

Which is the valid way to generate bytecode for all classes? 

A. java /code/a/Test.java 

B. javac –d /code /code/a/Test 

C. java /code/a/Test.java /code/b/Best.java 

D. java –cp /code a.Test 

E. javac –d /code /code/a/Test.java /code/b/Best.java 

F. javac –d /code /code/a/Test.java 

Correct Answer: E 

 

 

QUESTION 3

Given: 

Why does D cause a compilation error? 

A. D inherits a() only from C. 

B. D inherits a() from B and C but the return types are incompatible. 

C. D extends more than one interface. 

D. D does not define any method. 
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Correct Answer: D 

 

QUESTION 4

Given: 

What is the result? 

A. It throws a runtime exception. 

B. Value of Euler = 2.71828 

C. The code does not compile. 

D. Value of Euler = "2.71828" 

Correct Answer: C 

 

QUESTION 5

Given: Which statement is true? 
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A. Class Tester does not need to import java.time.LocalDate because it is already visible to members of the package
test. 

B. All classes from the package java.time. are loaded for the class Diary. 

C. Only LocalDate class from java.time package is loaded. 

D. Tester must import java.time.LocalDate in order to compile. 

Correct Answer: A 
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